need them done by the steps so I understand how to arrive at the answer.  The answers are given in bold. 
6.11
Kagera Company has made a portfolio of these three securities:

	
	Cost
	E(R)
	σ (R) 

	Treasury Bond
	$100,000
	6%
	0

	Kasai Corporation
	$80,000
	15%
	30%

	Limpopo Company
	$70,000
	16%
	25%


The correlation between Kasai and Limpopo is .6.  If the returns are normally distributed, find the probability that the return of the portfolio is more then 15%.

Answer 41.17

7.19
Molopa Company has β = 1.2, whereas the return on the market is expected to be 12%, with a standard deviation of 8%.  The riskless rate is 6% at present.  The stock of Molopo is selling at $100 per share, but it does not pay any dividends.  Find the probability that it will be selling for more then $120 by next year.

Answer 23.94%

7.20
Cheever Corp stock is priced at $40 per share, its dividend next year will be $2 a share, and its beta is 1.25.  Crane Company has the same growth rate as Cheever.  The current stock price of Crane is $55 a share, and its dividend this year is $3.  The riskless rate is 8% and the expected return on the market is 16%.  Find the beta of Crane stock.

Answer 1.3955

